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Matrices M1 and M2 from example 2: Topical antibiotics

This dataset comprises thirteen studies with the following study designs: AB, BC, BC, BC, BC, BC, BD, BD,
CD, CD, ABD, BCD, BCD. Further details are contained in the Results and Discussion section of the main
text.

Description of matrices M1 and M2 from Methods section: M1 contains ones on the main diagonal, so that
M1ii = 1 for all i. Furthermore, for i 6= j, M1ij = 1/2 if the corresponding entries (i.e., rows) of Y are from
the same study, and M1ij = 0 otherwise. We similarly define M2 as containing ones on the main diagonal, so
that M2ii = 1 for all i. Furthermore, for i 6= j, M2ij = 1 if the corresponding entries of Y are from the same
design and refer to the same treatment effect, M2ij = 1/2 if they are from the same design but refer to different
treatment effects, and M2ij = 0 otherwise. Below, we have added horziontal and vertical lines to demarcate
different studies in M1 and different designs in M2.
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